3.5 Solving Two-Step Equations.notebook March 07, 2024

Solutions

Page 134 #s1,2,4,6,7,10, 14, 15

1. State the operations, in order, that could be applied to both sides of the equation to solve for the

unknown.
a) 2x+1=7 b) 94-5=22 ¢) 2x+10=30 d) -5=-3y-11 e 13+8x=37
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2. Solve each equation in question #1 (find the value of the variable) and check each answer.

a) 2x+1=7 c) 2x+10=30 e) 13+8x=37

Dot~ =71 —2xHo=-10=730"10

27 = 5 ~x =2 | 34+8x - =33
I 5 3 Q=
L= K X =-10 8 8

> =3

2. Solve each equation in question #1 (find the value of the variable) and check each answer.

b) 9r-5=22 d) -5=-3y-11
U -s15=2+5 “S+ll =3y N+
33: ﬁ € = —34
S =
é:g __2 :D
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4. Solve.

a) 5x+8=23 b) —6x—4=38 c) 26=3y+5 d) —-52=—2r+12

58~ =L3-8  267S =355 S

Sx =I5 2= 35

= s 3 3

X =3 F=Y
~Cx-4 14 =8+% D -12=-2A+1-R
~lx =12 — &4 = -2C
< = z 2
x =- 32 =T

4. Solve.

e) 31+47m=143 f) 50=8—6x g) 18p—(-22)=122 h) 57=-—x-22

3) ’l‘?N\"B’ =|-3) I&r‘ G'&) + <,.27_3 =27 4 (*22)

Tz B o
o7 S8 18
So-8=8~bx-8 S3+2=-X-+2
42 =-6bx 29 =-x
-& 0 -6 — — I

_y=x -39 = X
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6. A number, n, is tripled and then decreased by 4(). The resulting value is 146.

a) Write an equation that could be used to determine the value of n.

0\> riple N — SA
Decresse this by HO —> Sn~%o
= 3n-4o=/46
b 3n-totio =l%+ko
3n =186
3

3
n =62

7. If 6a—4=14 and 22=-14—73b, determine the value of 5a—2b.
Lo~ 4 = Y- 22 =-14—3b
Com bl = W+ 22414 = —1e-3b+1
Ea =18 3=-3b
& & -3 3
o =3 —-l2 = b

— S-ﬁ" ZE
= s(3)-2(-1
= 15-(29)
= IS+2¢
= 39
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10. Solve.

a) 2.5x—4.1=3.9 b) —8.6—32y=-204 c) 13.6-18.3=15.6x—4.7 +20.8x

2 Sy ~le|+%] =33+ | Colloct (ke Terns
Z.5x =8 == =4 F=U4x- 43

25 25 B = 3 k- bg
X =32 O = 3=
364 34

~8.6-32,486=-204 186 O TF

-3.2uy = - 20.8
f"{_? -3.2

2
Y= e

14. A helicopter starts at an altitude of 5500 feet and descends at a rate T P e
of 600 ft/min. Write and solve an equation to determine how long Lm"'l]
it takes for the helicopter to reach an altitude of 250 feet. .
N /'ho\ (
Value

ﬁo\f}’é o{ CL\O’SQ =-S5

- _ N (e A s #{g
= A =552 Ssot alhdrde infrE andl

§$@1&w4=2§> £ is e Prne in MAIS.
250 =S50~ S5pC
zir5§o=5&wiﬁd75%©

_ 550 = =S500 o £=9 5% mins
=0 —5%0

= S5So

—
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15. For each diagram. write an equation that can be used to determine the value of x and then use
your equation to find the value of x.

a)

(22)°

(3x —40)°
e + <’3:<~ o) = 90 gx+(2x~41}+(x—l$>218c>
2x +3x- 40 =90 Sx42x-R+X-18=[80

S5x-4%0 =90 Ex — 6o = 1R0
b - bo+6o = 18+

G- ot G0 = G0+ 4O

= /30 5‘5:&9
%’5 El & 6

>~ =26 zr = 4o
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